x+y+ (2x—y)i=1+5F WEot= F A4 x, yol tote], x+y

Ol 2?7 (H,i= V-1)

@1 @ 2 ® 3 @ 4 ® 5

x+y=1 2x—-y=25
Lx=2,y=-1




1-2i 1+ 26
2431 2-3i
> =

8
> e o

(1-20)(2-3i)+ (1 + 2i)(2+ 3i)

(2 + 3i)(2 - 3i)
(2-6)+(-4-3)i+(2-6)+ (4+3)i
22 +32
(=4 —=7i) + (-4 + 7i)
13

8

13




3. V3 VEE ARteHE?

® VI @)-vis ® Vi
@ —V15i ® -15

‘ V=3 V=5 = V3i- V5i=-+V15




@ i ® -i




TEN L YT g gre

5. x=1998, y=4331 & o, : :
y—Xxi x-+yi

@o @ 1 ®-1 @i ® -i

~&B

y—xi x+yi
_ (A yi)? 4 (v - xi)?
(v — xi) (x + yi)
_ x% + 2xyi — y2 + y% — 2xyi — x2
; (v = xi) (x + yi)

=0




® o0 © Q@ ® ©, 0

z=a+bi(a bEAFZEE

@ z-z = (a+ bi)(a - bi) = a®

© z+7z = (a+ bi) + (a—bi) = 2a (A=)

© z-z = (a+ bi) — (a— bi) = 2bi

b=0°]H A4, b+ 0 °H 5|50t

@ @z+1)Z+1) =(a+bi+1)(a-bi+1)
= (a+ 1+ bi)(a+1-bi)
= (a+1)%+52 (2F)




L 3i
7. x= g e 1o e

2
® -1 @0 ®1
@ - V3i 5 14+ V3i
2 2
x=1_TV§i94°J'ﬂ°1]2%%3}fﬂ2x:1—V§i

JHBER 2x—1=—V3i

o Alo] e ABAW 47— dx+1= -3
Z 4x2 - 4x+4=0
o2hA, x2 - x+1=0




8.

(B+2)7t AF7 HEE St BAF c = x+yE A (v, )=
%

Uetd of, H (x, yE ¥ = A5 240l=71? (& x ye
Al 2~
ET)

® ®

(3 + 2i)(x + yi) = 3x + 3yi + 2xi — 2y
= (3x—2y) + (2x + 3y)i
0171 0] 47} E|2 315271 00]0lok SRR 2243y = 0




245 (1-xi)(1- )7t £3157F HES 4% 29 22 Fotolet

9.

Oa

(1-x)+ (-1 -x)i

(1—xi)(1-1)
S50l A5FI 0= 1-x
1

A
gL
P—




10, 225 z—a+bi7hOHE F 2AL WwEG

(1+i+2)2%2<0 2=c+4i

ol W, a® 4 b? + 2 o] FS oot
=

>
[> HeFr 14

oH .

B

(1+i+2)2<0°NA1+i+z7+= &8]5olth

z=a+ bigtH
l+itz=1+i+a+bi=(1+a)+(1+b)i
O|A0] £S5 0l B2 14+4g=0,a=-1
Soz=-14+bi

TSt =c+4i NN (-1 +bi)? =c+4i

1-2bi—b®=c+4i
-2%=4,1-b2=c

L b=-2c=-3

a4+ b+ c? =14




